
Vektorfelt, kortversjon
2 dimensjoner: F = 〈P, Q〉 = P i + Q j

3 dimensjoner: F = 〈P, Q, R〉 = P i + Q j + Rk

Vektorfelt, detaljversjon
2 dimensjoner: F(r) = 〈P (x, y), Q(x, y)〉 = P (x, y) i + Q(x, y) j

3 dimensjoner: F(r) = 〈P (x, y, z), Q(x, y, z), R(x, y, z)〉 = P (x, y, z) i + Q(x, y, z) j + R(x, y, z)k

r = 〈x, y, z〉 = x i + y j + z k

Gradient
(I tre dimensjoner – to dimensjoner er analogt):
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Divergens
Om vi antar F = 〈P, Q,R〉 = P i + Q j + Rk:
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Curl

curlF = ∇× F =

∣∣∣∣∣∣∣∣
i j k

∂

∂x

∂

∂y

∂

∂z
P Q R

∣∣∣∣∣∣∣∣ =
(∂R

∂y
− ∂Q

∂z

)
i +

(∂P

∂z
− ∂R

∂x

)
j +

(∂Q

∂x
− ∂P

∂y

)
k

Identiteter

∇× (∇f) = 0, ∇ · (∇× F) = 0.


